HIERACHIES
LO: Understand how to use hierarchies to help understand information.

SC: 
· You read through all the information.

· You highlighted words and phrases you thought were important.

· You drew a pyramid.

· You identified the big idea – the heading – and put it in at the top of the pyramid.

· You identified the main points and included them in the pyramid.

· You summarised the details and included them in the lower sections of the pyramid.
· You checked your understanding by covering up sections and tried to recall what they included.
Water is an unusual liquid. If you test the conductivity of water with a normal ammeter it appears to be a non-conductor of electricity and therefore made up of molecules. However, if a very sensitive ammeter is used then it can be seen that it is a conductor. Since water conducts slightly there must be ions present. Chemists believe that in water and all aqueous solutions, there are reversible reaction taking place. 
In theory, all chemical reactions are reversible, which means that the products are able to react to re-form the reactants. This can be shown with a reversible arrow: 
In the case of water, a small number of water molecules are constantly breaking up into hydrogen and hydroxide ions, which in turn are constantly reacting to reform the water molecules. This can be shown as follows:
H2O(l)   [image: image1.png]


   H+(aq)   +   OH-(aq)

The number of water molecules which break up to form ions is very small, which means that the concentration of the water molecules compared to the ions is high. However, the rate at which the water molecules break up to form ions is exactly equal to the rate at which the ions join to form water molecules. This means that the concentrations of reactants and products stay constant. At situation like this where the rates of the forward and reverse reaction are the same is called an equilibrium. 

